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QUESTION 1

Which statement is the most accurate?

A. The unshift function removes elements from the beginning of an array.
B. The unshift function adds elements to the end of an array.

C. The shift function adds elements to the end of an array.

D. The shift function removes elements from the beginning of an array.

Correct Answer: D

QUESTION 2

Consider the program code in the attached exhibit. What is the result of executing this program code?
A. The code will output the following: 3+5+ 2 + 3 =13

B. The code will output the following: =3 +5+2 + 313

C. The code will output the following: =133 +5+2+ 3

D. The code will fail at line 3 because add is a reserved word.

Correct Answer: A

QUESTION 3

Consider the following program code:

$x =5;

$y = 10;
while (++$x
{

print ($x Sy );
}

print ($x Sy );

What is the result of executing this program code?
A. The code will output the following: 6 11 7 128 139 14 10 15

B. The code will output the following: 6 117 128 139 14 10 14
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C. The code will output the following: 5106 117128139 13
D. The code will output the following: 5106 117 128 139 14

Correct Answer: B

QUESTION 4

Consider the following lines of code:
sub mySub {

($arg, @args) = @_;

foreach $val (@args) {

$returnVal .= "$arg, $val\n";

}

$returnval . " . @args;

}

print andmySub(1, "a value", "another value", "a parameter”, "another parameter"); What is the output of

these lines of code?

A. 1, avalue 1, another value 1, a parameter 1, another parameter 4

B. 1, a value 1, another value 1, a parameter 1, another parameter a valueanother valuea parameteranother parameter
C. 1, avalue, another value, a parameter, another parameter a value another value a parameter another parameter

D. 1, a value, another value, a parameter, another parameter 4

Correct Answer: A

QUESTION 5

Consider the following program code:
$x = 150;

$y ="250";

if ($x + 100) == $y) { print("1 "); }

if ("250" == $y) { print("2 "); }

if (250" eq $y) { print("3 "); }

if ($x It $y) { print("4 *); }
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if ($x ge $y) { print("5"); }

What is the result of executing this program code?
A. The code will output the following: 12 3 4

B. The code will output the following: 1 3 4

C. The code will output the following: 1 3 5

D. The code will output the following: 12345

Correct Answer: A

QUESTION 6

Consider the program code in the attached exhibit.
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$string =
“OpEd #32x389B Mac H#A8dB922c PrdKey #328cs8320Q";

if (Sstring =™ m/.=/)

print 1
’
if (§string =~ m/\w+\s{0,5)}#\Sx/)
{

print "2 *;

}y#32x389B/)

T

?
if (§string =~ m/\w*\s{2
{
print "3 *;
f ($string ="~ m/\s+#A8d8922C/)
print "4 **;

f (§string ="~
ns....\s*=(#)\d{2, yx\wx\s*MAC\s+$1/1)

print "5 *;

What is the result of executing this program code?
A. The code will output the following: 3 4

B. The code will output the following: 1 2 3 4

C. The code will output the following: 12 45

D. The code will output the following: 1 2 5

Correct Answer: D

QUESTION 7

Which one of the following choices lists only valid expression operators?
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A+ -]
B.*** /]
C.* [ ++ %
D. */ % -- **

Correct Answer: C

QUESTION 8

Consider the following program code: %_Nifty = (one, two, three, four); @NiftyKeys = sort(keys(%_Nifty));
foreach(@NiftyKeys)

{

print ($_Nifty{$_} .);

}

What is the result of executing this program code?

A. The code will output the following: one three

B. The code will output the following: four two

C. The code will output the following: two four

D. The code will output the following: four one three two

Correct Answer: C

QUESTION 9

Consider the following statement:

$buffer = a string;

Also consider that a file named test.txt contains the following line of text: One line of test text.What is the
output of the following lines of code? $file = "test.txt";

open (OUT, "
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